## Student Occupational Follow-Up Survey 2015-2016 Short Report

# Graduates from 2015SU, 2015FA, & 2016SP Self-report survey conducted via email and paper mail

Participation: FY16 Grad Survey

		No. of Graduates Surveyed						
	Respo	Respondents Non-Respondents			Total			
	N	%	N	%	N	%		
Graduates	221	22.7%	754	77.3%	975	100.0%		
Total	221	22.7%	754	77.3%	975	100.0%		

Participation by Program: FY16 Grad Survey

			N	o. of Gradu	ates Surve	yed	
		Respo	ndents	Non-Res	pondents	To	otal
		N	%	N	%	N	%
program	B ABLAAS	3	42.9%	4	57.1%	7	100.0%
	B ABMAAS	2	20.0%	8	80.0%	10	100.0%
	B ABRAAS	0	0.0%	1	100.0%	1	100.0%
	B ABTAAS	0	0.0%	4	100.0%	4	100.0%
	B ACCAAS	6	42.9%	8	57.1%	14	100.0%
	B ACCCER	1	50.0%	1	50.0%	2	100.0%
	B AGBCER	1	50.0%	1	50.0%	2	100.0%
	B EQMAAS	1	50.0%	1	50.0%	2	100.0%
	B EQMCER	0	0.0%	1	100.0%	1	100.0%
	B ETRCER	0	0.0%	1	100.0%	1	100.0%
	B FSACER	1	33.3%	2	66.7%	3	100.0%
	B FSSCER	3	23.1%	10	76.9%	13	100.0%
	B GISCER	1	33.3%	2	66.7%	3	100.0%
	B HCMAAS	0	0.0%	6	100.0%	6	100.0%
	B HIHAAS	0	0.0%	2	100.0%	2	100.0%
	B HIRAAS	1	25.0%	3	75.0%	4	100.0%
	<b>B MGTAAS</b>	3	16.7%	15	83.3%	18	100.0%
	B MKTAAS	0	0.0%	3	100.0%	3	100.0%
	E ACECER	0	0.0%	7	100.0%	7	100.0%
	E ACRAAS	0	0.0%	2	100.0%	2	100.0%
	E AFTAAS	2	20.0%	8	80.0%	10	100.0%
	E AMTCER	0	0.0%	2	100.0%	2	100.0%
	E AUSCER	0	0.0%	1	100.0%	1	100.0%
	E AUTAAS	2	18.2%	9	81.8%	11	100.0%
	E CDBAAS	1	50.0%	1	50.0%	2	100.0%
	E CDMAAS	1	50.0%	1	50.0%	2	100.0%
	E CDSAAS	0	0.0%	1	100.0%	1	100.0%
	E CDSCER	0	0.0%	1	100.0%	1	100.0%
	E CMDCER	0	0.0%	1	100.0%	1	100.0%

### Participation by Program: FY16 Grad Survey

	No. of Graduates Surveyed								
	Respo	ndents	Non-Res	pondents	To	otal			
	N	%	N	%	N	%			
E CNHAAS	4	44.4%	5	55.6%	9	100.0%			
E CRRCER	1	11.1%	8	88.9%	9	100.0%			
E CWCCER	1	4.8%	20	95.2%	21	100.0%			
E ECSAAS	1	16.7%	5	83.3%	6	100.0%			
E ECSCER	0	0.0%	1	100.0%	1	100.0%			
E HACAAS	3	50.0%	3	50.0%	6	100.0%			
E IMCCER	0	0.0%	1	100.0%	1	100.0%			
E IWTCER	0	0.0%	6	100.0%	6	100.0%			
E MFGAAS	7	77.8%	2	22.2%	9	100.0%			
E PETAAS	2	20.0%	8	80.0%	10	100.0%			
F ENTAAS	0	0.0%	1	100.0%	1	100.0%			
F GDSAAS	1	33.3%	2	66.7%	3	100.0%			
F MCBAAS	0	0.0%	1	100.0%	1	100.0%			
F MPHAAS	1	33.3%	2	66.7%	3	100.0%			
G AKGCER	4	21.1%	15	78.9%	19	100.0%			
G CMACER	14	35.0%	26	65.0%	40	100.0%			
G DHGAAS	9	36.0%	16	64.0%	25	100.0%			
G DTPCER	0	0.0%	1	100.0%	1	100.0%			
G EMACER	13	26.0%	37	74.0%	50	100.0%			
G EMTAAS	0	0.0%	2	100.0%	2	100.0%			
G MASCER	0	0.0%	8	100.0%	8	100.0%			
G MSGAAS	1	20.0%	4	80.0%	5	100.0%			
G MSGCER	4	33.3%	8	66.7%	12	100.0%			
G NASCER	40	22.0%	142	78.0%	182	100.0%			
G NURAAS	20	27.8%	52	72.2%	72	100.0%			
G NURCER	4	14.3%	24	85.7%	28	100.0%			
G OTAAAS	6	30.0%	14	70.0%	20	100.0%			
G RTTAAS	5	45.5%	6	54.5%	11	100.0%			
G SURAAS	5	35.7%	9	64.3%	14	100.0%			
G VTTAAS	10	41.7%	14	58.3%	24	100.0%			
G XRAAAS	4	28.6%	10	71.4%	14	100.0%			
N FTRCER	1	12.5%	7	87.5%	8	100.0%			
S CDACER	1	100.0%	0	0.0%	1	100.0%			
S CHDAAS	1	12.5%	7	87.5%	8	100.0%			
S CJSAAS	2	14.3%	12	85.7%	14	100.0%			
T BKPCER	1	50.0%	1	50.0%	2	100.0%			
T CISCER	0	0.0%	9	100.0%	9	100.0%			
T CNAAAS	3	27.3%	8	72.7%	11	100.0%			
T CPLAAS	3	50.0%	3	50.0%	6	100.0%			
T DGMAAS	0	0.0%	8	100.0%	8	100.0%			
T GPRCER	2	33.3%	4	66.7%	6	100.0%			
T IPRCER	2	22.2%	7	77.8%	9	100.0%			

### Participation by Program: FY16 Grad Survey

		N	o. of Gradu	ates Surve	yed		
	Respo	ndents	Non-Res	pondents	Total		
	N	%	N	%	N	%	
T LINCER	1	25.0%	3	75.0%	4	100.0%	
T MOBCER	1	20.0%	4	80.0%	5	100.0%	
T MSACER	1	12.5%	7	87.5%	8	100.0%	
T MSOCER	2	66.7%	1	33.3%	3	100.0%	
T OCAAAS	3	20.0%	12	80.0%	15	100.0%	
T OCPCER	0	0.0%	1	100.0%	1	100.0%	
T PCFCER	0	0.0%	7	100.0%	7	100.0%	
T SDVCER	0	0.0%	2	100.0%	2	100.0%	
T VGWCER	1	16.7%	5	83.3%	6	100.0%	
T WAPCER	1	50.0%	1	50.0%	2	100.0%	
T WSMCER	0	0.0%	1	100.0%	1	100.0%	
X CDLCER	6	6.7%	84	93.3%	90	100.0%	
Total	221	22.7%	754	77.3%	975	100.0%	

# Employment Status by Degree Type All Respondents: FY16 Grad Survey

		Degree Type						
		А	AS	С	ER	To	otal	
		N	%	N	%	N	%	
3. What is Your present	Employed full-time	99	87.6%	52	48.1%	151	68.3%	
Employment Status?	Employed part-time	9	8.0%	42	38.9%	51	23.1%	
	Full-time military	0	0.0%	0	0.0%	0	0.0%	
	Unemployed, seeking employment	3	2.7%	11	10.2%	14	6.3%	
	Unemployed, not seeking employment	2	1.8%	3	2.8%	5	2.3%	
	Total	113	100.0%	108	100.0%	221	100.0%	

### Reason Unemployed by Degree Type Unemployed, Seeking Employment: FY16 Grad Survey

		Degree Type					
		AAS		С	ER	Total	
		N	%	N	%	N	%
3a.Unemployed: Reason	Full-time Student	0	0.0%	0	0.0%	0	0.0%
Not Seeking Employment	Full-time Homemaker	0	0.0%	0	0.0%	0	0.0%
	Health Disability	0	0.0%	0	0.0%	0	0.0%
	Family Responsibilities	0	0.0%	0	0.0%	0	0.0%
	No response	3	100.0%	11	100.0%	14	100.0%

### Job Related to Program (Career Related) by Degree Type Employed Full-Time: FY16 Grad Survey

		Degree Type						
		AAS		CER		Total		
		N	%	N	%	N	%	
4. Is Your Present Job	Related	90	91.8%	43	82.7%	133	88.7%	
Related to Your Former College Program?	Not related	8	8.2%	9	17.3%	17	11.3%	
	Total	98	100.0%	52	100.0%	150	100.0%	

## Reason Job is Unrelated to Program Employed Full-Time, NOT Related to Program : FY16 Grad Survey

				Degre	е Туре			
		А	AS	С	ER	Total		
		N	%	N	%	N	%	
4a.lf Not Related, Why?	Other	0	0.0%	3	33.3%	3	17.6%	
	Preferred to work in another field	1	12.5%	2	22.2%	3	17.6%	
	Could not find a job in field of preparation	5	62.5%	0	0.0%	5	29.4%	
	Temporary job while in transition	1	12.5%	1	11.1%	2	11.8%	
	Took job for preferred hours	1	12.5%	1	11.1%	2	11.8%	
	Did not complete program or pass licensing test	0	0.0%	1	11.1%	1	5.9%	
	No response	0	0.0%	1	11.1%	1	5.9%	
	Total	8	100.0%	9	100.0%	17	100.0%	

### Job Satisfaction Employed Full-Time, Related to Program: FY16 Grad Survey

			Time, Related to gram
		N	%
7. Current Job	Very Satisfied	71	55.0%
Satisfaction	Somewhat Satisfied	49	38.0%
	Somewhat Dissatisfied	4	3.1%
	Very Dissatisfied	5	3.9%
	Total	129	100.0%

#### Salary Employed Full-Time, Related to Program : FY16 Grad Survey

		Degree Type													
	AAS				CER			Total							
	N	Min	Max	Mean	Median	N	Min	Max	Mean	Median	N	Min	Max	Mean	Median
Hourly Salary	90	\$11.00	\$60.00	\$20.51	\$18.50	43	\$8.51	\$70.00	\$17.66	\$14.10	133	\$8.51	\$70.00	\$19.63	\$17.38

## Employer Employed Full-Time, Related to Program : FY16 Grad Survey

		Formula and Fall 2	Time Deleted to
			Time, Related to gram
		N	%
Employer	Carle	29	21.8%
	Unknown	11	8.3%
	Presence Covenant Medical Center	6	4.5%
	University of Illinois	5	3.8%
	Self-Employed	3	2.3%
	OSF	3	2.3%
	Christie Clinic	3	2.3%
	Illinois Grain and Seed Equipment	2	1.5%
	Decatur Memorial Hospital	2	1.5%
	Clark Lindsey Nursing Home	2	1.5%
	Worden Martin Buick GMC	1	0.8%
	West loop smile studio	1	0.8%
	West Central Veterinary Services	1	0.8%
	Unit 4 Schools	1	0.8%
	Transitions Hospice	1	0.8%
	TherHappy Therapy Services, Inc	1	0.8%
	The Vineyard Church	1	0.8%
	Sullivan Parkhill	1	0.8%
	Silgan Closures	1	0.8%
	Riggs Community Health Clinic	1	0.8%
	Riddle Repair	1	0.8%
	RehabCare	1	0.8%
	Providence Regional Medical Center	1	0.8%
	Project Te	1	0.8%
	Pro ambulance service	1	0.8%
	Pekin Veterinary Clinic	1	0.8%
	Paul's Machine and Welding	1	0.8%
	Parkland College	1	0.8%
	Monticello Police Department	1	0.8%
	Monical's Pizza	1	0.8%
	McKinley Inc	1	0.8%
	Maple Park Dental Care	1	0.8%
	Main Street Animal Clinic	1	0.8%

# Employer Employed Full-Time, Related to Program : FY16 Grad Survey

	Employed Full-Tir	
	N	%
Lowes	1	0.8%
Litania Sports Group	1	0.8%
Lee Trucking Company	1	0.8%
Lazer Spot	1	0.8%
Kids 1st Childcare Cente	1	0.8%
John Deere	1	0.8%
JL Farm Equipment	1	0.8%
Jackson therapy partners	1	0.8%
Inova Fairfax Heart and Vascular Institute	1	0.8%
Illinois state	1	0.8%
Hillmann Pediatric Therapy	1	0.8%
Health alliance	1	0.8%
Hand In Hand Daycare	1	0.8%
Greenwood, Inc.	1	0.8%
Gibson area hospital	1	0.8%
Gayle Frerichs Trucking	1	0.8%
Gailey Eye Clinic	1	0.8%
Fischer and Wozniak	1	0.8%
Elmbrook General Dentistry	1	0.8%
DSV Air & Sea Inc.	1	0.8%
Douglas farms	1	0.8%
Dentologie	1	0.8%
Dan Pilsons Auto Center	1	0.8%
Crawford Equipment Company	1	0.8%
Contruction Engineering Research Lab	1	0.8%
Colmac Coil Midwest	1	0.8%
Coile's Diesel Inc.	1	0.8%
Clinton Ford	1	0.8%
City of Champaign	1	0.8%
Chief/Bauer	1	0.8%
Champaign-Urbana Mass Transit District (CUMTD		0.8%
Champaign County Nursing Home	1	0.8%
Champaign County Humane Society	1	0.8%

Employer
Employed Full-Time, Related to Program : FY16 Grad Survey

	Employed Full-Time, Related to Program	
	N	%
Carriage Crossing Senior Living	1	0.8%
Carin Park	1	0.8%
Birkeys Farm Store	1	0.8%
BankChampaign, N.A.	1	0.8%
Arrow Ambulance	1	0.8%
Animal Wellness Center	1	0.8%
Allegiance mobile health	1	0.8%
All Seasons	1	0.8%
AHW LLC	1	0.8%
Advocate BroMenn Medical Center	1	0.8%
A Tension Muscle Therapy	1	0.8%
Total	133	100.0%

# Satisfaction within Program All Respondents: FY16 Grad Survey

		Respondents	
		N	Column N %
10a.MAJOR: COURSE	Very Satisfied	136	65.1%
CONTENT	Somewhat Satisfied	62	29.7%
	Somewhat Disatisfied	7	3.3%
	Very Dissatisfied	4	1.9%
	Total	209	100.0%
10b.MAJOR:	Very Satisfied	125	59.8%
LECT/LAB/GRP & IND PROJ	Somewhat Satisfied	69	33.0%
	Somewhat Disatisfied	13	6.2%
	Very Dissatisfied	2	1.0%
	Total	209	100.0%
10c.MAJOR:	Very Satisfied	133	63.3%
EQUIP/FACILITIES/MATE RIALS	Somewhat Satisfied	63	30.0%
	Somewhat Disatisfied	12	5.7%
	Very Dissatisfied	2	1.0%
	Total	210	100.0%
10d.MAJOR: JOB	Very Satisfied	117	56.3%
PREPARATION	Somewhat Satisfied	72	34.6%
	Somewhat Disatisfied	14	6.7%
	Very Dissatisfied	5	2.4%
	Total	208	100.0%

## Satisfaction within Program All Respondents: FY16 Grad Survey

		Respondents	
		N	Column N %
10e.MAJOR:	Very Satisfied	113	59.5%
PREPARATION FOR FURTHER ED	Somewhat Satisfied	63	33.2%
	Somewhat Disatisfied	13	6.8%
	Very Dissatisfied	1	0.5%
Total		190	100.0%
10f.MAJOR:INFO ON CURRENT EMPLOYMENT	Very Satisfied	98	
	Somewhat Satisfied	74	
	Somewhat Disatisfied	22	
	Very Dissatisfied	3	
	Total	197	

# Satisfaction Outside of Program All Respondents: FY16 Grad Survey

			•
		Respondents	
		N	Column N %
11a.OUTSIDE MAJOR:	Very Satisfied	91	51.7%
COURSE CONTENT	Somewhat Satisfied	73	41.5%
	Somewhat Disatisfied	11	6.3%
	<b>Very Dissatisfied</b>	1	0.6%
	Total	176	100.0%
11b.OUTSIDE MAJOR:	Very Satisfied	83	48.3%
LECT/LAB/GRP/IND PROJTS	Somewhat Satisfied	75	43.6%
T NOUTO	Somewhat Disatisfied	13	7.6%
	Very Dissatisfied	1	0.6%
	Total	172	100.0%
11c.OUTSIDE MAJOR:	Very Satisfied	85	48.9%
EQUIP/FAC/MATERIALS	Somewhat Satisfied	81	46.6%
	Somewhat Disatisfied	7	4.0%
	Very Dissatisfied	1	0.6%
	Total	174	100.0%
11d.OUTSIDE MAJOR: JOB PREPARATION	Very Satisfied	71	43.0%
	Somewhat Satisfied	75	45.5%
	Somewhat Disatisfied	18	10.9%
	Very Dissatisfied	1	0.6%
	Total	165	100.0%
11e.OUTSIDE MAJOR:	Very Satisfied	82	50.6%
PREP FOR FURTHER EDUC	Somewhat Satisfied	67	41.4%
EDUC	Somewhat Disatisfied	11	6.8%
	Very Dissatisfied	2	1.2%
	Total	162	100.0%

## Satisfaction Student Services All Respondents: FY16 Grad Survey

		Res	pondents
		N	Column N %
12a.FINANCE	Very Satisfied	71	51.8%
	Somewhat Satisfied	42	30.7%
	Somewhat Disatisfied	14	10.2%
	Very Dissatisfied	10	7.3%
	Total	137	100.0%
12b.ASSESSMENT	Very Satisfied	77	43.8%
	Somewhat Satisfied	83	47.2%
	Somewhat Disatisfied	13	7.4%
	Very Dissatisfied	3	1.7%
	Total	176	100.0%
12c.CAREER PLANNING	Very Satisfied	60	39.5%
	Somewhat Satisfied	71	46.7%
	Somewhat Disatisfied	17	11.2%
	Very Dissatisfied	4	2.6%
	Total	152	100.0%
12d.COLLEGE	Very Satisfied	42	47.2%
TRANSFER PLANNING	Somewhat Satisfied	38	42.7%
	Somewhat Disatisfied	5	5.6%
	Very Dissatisfied	4	4.5%
	Total	89	100.0%
12e.COUNSELING	Very Satisfied	56	40.0%
	Somewhat Satisfied	55	39.3%
	Somewhat Disatisfied	17	12.1%
	Very Dissatisfied	12	8.6%
	Total	140	100.0%
12f.STUDENT ACTIVITIES	Very Satisfied	43	43.4%
	Somewhat Satisfied	48	48.5%
	Somewhat Disatisfied	5	5.1%
	<b>Very Dissatisfied</b>	3	3.0%
	Total	99	100.0%
12g.ADMISSIONS	Very Satisfied	96	50.0%
	Somewhat Satisfied	80	41.7%
	Somewhat Disatisfied	13	6.8%
	Very Dissatisfied	3	1.6%
	Total	192	100.0%
12h.JOB PLACEMENT	Very Satisfied	42	37.5%
	Somewhat Satisfied	53	47.3%
	Somewhat Disatisfied	11	9.8%
	Very Dissatisfied	6	5.4%
	Total	112	100.0%
12i.COLLEGE TUTORING	Very Satisfied	46	56.8%
	Somewhat Satisfied	29	35.8%

## Satisfaction Student Services All Respondents: FY16 Grad Survey

		Res	pondents
		N	Column N %
	Somewhat Disatisfied	3	3.7%
	Very Dissatisfied	3	3.7%
	Total	81	100.0%
12j.LEARNING LAB	Very Satisfied	51	49.5%
	Somewhat Satisfied	49	47.6%
	Somewhat Disatisfied	3	2.9%
	Total	103	100.0%
12k.	Very Satisfied	85	62.5%
LIBRARY/AUDIOVISUAL SERV	Somewhat Satisfied	46	33.8%
SERV	Somewhat Disatisfied	4	2.9%
	Very Dissatisfied	1	0.7%
	Total	136	100.0%
12I.FACULTY ADVISING	Very Satisfied	70	42.4%
	Somewhat Satisfied	72	43.6%
	Somewhat Disatisfied	13	7.9%
	Very Dissatisfied	10	6.1%
	Total	165	100.0%
12m.FOOD SERVICE	Very Satisfied	48	35.6%
	Somewhat Satisfied	65	48.1%
	Somewhat Disatisfied	14	10.4%
	Very Dissatisfied	8	5.9%
	Total	135	100.0%
12n.BOOKSTORE	Very Satisfied	80	43.0%
	Somewhat Satisfied	86	46.2%
	Somewhat Disatisfied	16	8.6%
	Very Dissatisfied	4	2.2%
	Total	186	100.0%
12o.PARKING	Very Satisfied	88	44.2%
	Somewhat Satisfied	87	43.7%
	Somewhat Disatisfied	16	8.0%
	Very Dissatisfied	8	4.0%
	Total	199	100.0%
12p.COLLEGE CASHIER	Very Satisfied	85	53.8%
	Somewhat Satisfied	63	39.9%
	Somewhat Disatisfied	8	5.1%
	Very Dissatisfied	2	1.3%
	Total	158	100.0%